[ Efficiency vs vertpos |

= 0.0
g .009
.008
.007
.006
0.005
0.004
0.003

EHICIRACYYS ¥

0.95L : :
1072 107 1 10 0?
TP vertr (cr%)

W__

=
X
<<

—s— DQM_VUUUI_RUU0UU000T _Global _CMSS
—— DQM_V0001_R000000001__Global _CMSS

[Efficiend —— DQMV0001"R000000001 —Global —CMSSW X"z all75

—— DQM_V0001_R000000001 _Global _CMSSW_X_Y_Z all7
~ 0.02
-

TS0 1O RN T S s e
016
014
012
0.0]
0.008
0.006
0.004
0.002
e

.................................

EHHCIRRCY S 8T

..........................................

-

Ratio

TR B DI G5 G

[y
TTTT] T
=

093 =20 =10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.0%

P08 6 4 20 2 4 6 8 10

Sim. PV z (cm)



	Contents
	Page 1


